
Sub. code 3041 

1 
 

NEB - GRADE XII 

2079(2023) 

Model Question 

Economics 
k/LIffyL{n]  ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg' kg]{5 . lsgf/fdf lbOPsf cª\sn] k"0f{fª\snfO{ hgfpF5 .  

The candidates are required to give their answers in their own words as far as practicable. The 

figures in the margin indicate full marks. 
 

;do (Time): 3 Hrs.       k"0ff{ª\s (Full Marks): 75 
 

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt All Questions) 

 

;d"x …sÚ -Group A) 

 
-clt ;+lIfKt pQ/fTds k|Zgx¿/Very Short Answer Type Questions)                                11×1 = 11 

1. >d ljefhgsf s'g} b'O{ kmfObfx? n]Vg'xf];\ .  

Write any two advantages of division of labour. 

2. Ps ljj|m]tfn] !) cf]6f a:t'sf] laqmLaf6 ?= &)) ?k}ofF sdfpF5 . olb p;n] yk Ps PsfO a]Rof] 

eg], p;sf] s'n cfo ?=&%) x'G5 eg] ;"q k|of]u u/L ;LdfGt cfo kQf nufpg'xf]; .  
A seller earns Rs. 700 from the sale of 10 units of a good. If s/he sells 1 more unit, her/his 

total revenue becomes Rs 750, then find marginal revenue by using formula. 

3. d'›f cfk"lt{ / shf{ lgoGq0f ug{ s]G›Lo a}+sn] cjnDag ug{] gLltnfO{ s] elgG5 <  
What is the policy applied by central bank to control the money supply and credit called? 

4. l:y/ ljlgdo b/ / kl/jt{gzLn lalgdo b/ larsf] s'g} Pp6f leGgtf n]Vg''xf];\ . Write any one 

difference between fixed exchange rate and flexible exchange rate. 
5. ;+/rgfut a]/f]huf/L eg]sf] s] xf] < 

What is ‘structural unemployment’? 

6. g]kfn ljZj Jofkf/ ;+u7gsf] ;b:o slxn] eof] < 
When did Nepal become the member of WTO ?  

7. g]kfnsf] rfn" of]hgfn] ul/aLsf] /]vfd'lgsf] hg;+VofnfO{ sd ug]{ nIosf ;fy /fv]sf s'g} b'O{ 

gLltx¿ n]Vg'xf];\ .  
Write down any two policies aimed at reducing the size of population below poverty line 

in the current plan of Nepal.  
8. tkfO{Fsf] ;d'bfodf n}+lus c;dfgtf 5 . rfx] kl/jf/df xf];\ jf ljBfnodf xf];\ 5fqfx?sf] t'ngfdf 5fqx?nfO{ jl9 

dxTTj lbOPsf] kfOG5 . o:tf] ;Gbe{df g]kfnn] ;g\ @)#) ;Dd lzIffdf n}+lus ;dfgtfsf] nIo xfl;n ug{ ;3fp 

k'¥ofpg] p2]Zn] tkfO{Fn] v]Ng ;Sg] s'g} b'O{ e"ldsfx¿ pNn]v ug{'xf];\ .  
There is gender inequality in you community. More prioriety is given to boys as 

compared to girls either at home or in school. In this regard, state any two roles that you 

can play to achieve the goal of gender equality in education by 2030 in Nepal ? 

9. k|fylds tYofÍs ;+sng ug'{ k"j{ hfgsf/L /fVg' kg]{ s'g} b'O{ s'/fx? n]Vg'xf];\ .  
Write any twopre-requisites of primary data collection. 

10. låltos tYof+ssf ;|f]tx?df k':ts, kqklqsf, /]l8of], cflb kb{5g\ . t/ ltgLx?jf6 tYof+s ;+sngdf 

cg]s ;d:of /xG5g\ . o; ;Gbe{df låtLos ;|f]taf6 tYof+sx?  k|of]u ubf{ cfOkg]{ s'g} b'O{ 

;d:ofx? cf+}Nofpg'xf];\ .  
The sources of primary data collection are book, newspaper, radio, etc. But there are 

various problems in data collection from such sources. In this regard, point out any two 

problems while using the data from secondary sources. 
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11. olb k|yd rt'yf{+; / t[tLo rt'yf{+zx¿sf] km/s / of]ukmnx¿ qmdzM $% / &% eP rt'y{s ljrns 

u'0ffª\s kQf nufO{ JofVof ug'{xf]; .  
If the difference and sum of first quartile (Q1) and third quartile (Q3) are 45 and 75 

respectively. Find the coefficient of quartile-deviation and interpret it. 

 

;d"x v -Group B) 
 

-;+lIfKt pQ/fTds k|Zgx¿/Short Answer Type Questions)                         8×5 = 40 
 

12. ;|f]t / ;fwgsf] afF8kmfF8sf] cy{ s] xf] < ;|f]tx?sf] afF8kmfF8 ubf{ pTkGgx'g ;Sg] k|d'v tLgj6f 

;d:ofx¿sf] klxrfg u/L j0f{g ug'{xf];\ .  
What is the meaning of allocation of resources ? Identify and describe the three major 

issues that may arise while allocating resources.      2+3 
Or -cyjf_ 

ahf/ cy{tGq eg]sf] s] xf] < o;sf s'g} rf/j6f ljz]iftfx¿ j0f{g ug{'xf]; . 

What is Market Economy ? Explain any four features of market economy.    1+4 

13. gfkmfsf] clglZrttf jxg l;4fGtsf] a0f{g ug'{+xf]; . o;sf s'g} rf/j6f sdhf]/Lx? cf}Nofpg'xf];\ . 

Describe the Uncertainty Bearing Theory of Profit. Point-out its’ any four weaknesses.               
   3+2 

14. lbOPsf] tflnsfsf cfwf/df lgDg k|Zgx¿sf] pQ/ lbg'xf];\ .   
Give the answer of following questions on the basis of given table.         2+3 

Output 1 2 3 4 5 6 

TC 8 14 18 28 45 72 

AC  7   9  

MC    10  27 

i. dflysf] tflnsf k"/f ug{'xf];\ . (Complete the above table.) 

ii. k'/f ul/Psf] tflnsfaf6 cf};t\ nfut / ;LdfGt nfutsf /]vf lrq lvRg'xf]; .  

Draw AC and MC curves from the completed table. 

15. s'g} Psfwsf/L kmd{n] a:t'sf] d"Nodf qmdzM sld ub}{ nu]/ cfk'mn] rfx] hlt j:t'sf] kl/df0f laqmL 

ug{ ;Sb5 . o; hfgsf/Lsf cfwf/df kmd{sf] s'n cfo, cf};t\ cfo / ;LdfGt cfo b]vfpg] tflnsf 

tof/ kfg{'xf];\  / pSt tflnsfsf] cfwf/df ;LdfGt cfo tyf cf}ift\ cfo /]vflrq lvRg'xf];\ .  
‘A monopoly firm can sell as many goods as it wants to sell by decreasing prices’. Based 

on this information, prepare a table showing the firm’s total revenue, average revenue 

and marginal revenue. Draw the curves of average revenue and marginal revenue based 

on the table.                              3+2 
16.  d'b|f ahf/sf] kl/efiff lbg'xf]; / o;sf s'g} rf/j6f laz]iftfx¿sf] JofVof ug'{xf];\ .  

Define Money Market and describe any four features of it.                   1+4  

17.  xfn g]kfndf lg/Gt/ a9\bf] cfly{s c;dfgtfsf] cj:yfn] ubf{ b]zsf] ;fdflhs, /fhgLlts / ;du| 

cfly{s If]qdf k|lts'n c;/ k/]sf] b]lvG5 . o:tf] cj:yfnfO{ sd ug{ s'g} kfFr Jofjxfl/s pkfox¿ 

;'emfpg'xf];\ .  
Currently, increasing economic inequality situation in Nepal has adversely affected the social, 

political and whole economic sectors of the country. Suggest any five practical measures to 

reduce this situation. 
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18.  g]kfnsf] ljsf;sf of]hgf lgdf{0f tyf sfof{Gjogsf] Oltxf; nfdf] 5 . t/ kof{Kt ljsf; x'g 

;ls/x]sf] 5}g . o; ;Gbe{df g]kfnn] k|efjsf/L ljsf; of]hgf lgdf{0f ug{ s] s] r/0fx¿ ckgfpg' 

kb{5 < ;'emfj lbg'xf];\ .  

 

Nepal has a long history of formulation and implementation of development plan.  But 

there is no sufficient development. In this regard, suggest the steps to formulate an 

effective development plan in Nepal. 
19. lbOPsf] tYofª\saf6 :t/Lo ljrng kQf nufO{ glthfsf] JofVof ug'{xf];\ .  

Find the standard deviation from the given data and interpret the result.                       4+1 

 

Hofnf ?=(Wages Rs.)  >ldssf] ;+Vof (No. of Labour)  

45 8 

55 7 

65 3 

75 2 

80 4 
 

or -cyjf_ 

tnsf] tYof+saf6 nf:k]o/sf] ;"q k|of]u u/L d"No ;'rsfª\s kQf nufpg'xf];\ / glthfsf] ljZn]if0f 

ug{'xf];\ .  

Find Price Index using Laspeyre’s formula and interpret the result.                               4+1 
 

j:t'sf k|sf/ 

(Types of goods) 
cfwf/ jif{ (Base year) rfn" jif{ (Current year) 

d'No (Price) kl/df0f (Quantity) d'No (Price) kl/df0f (Quantity) 

Rffdn (Rice) 
lk7f] (Flour) 
cfn' (Potato) 

  t]n (Oil) 
  b'w (Milk) 

70 

40 

30 

200 

30 

15 

5 

10 

7 

5 

80 

45 

35 

250 

35 

20 

7 

12 

5 

4 

 
;d"x …uÚ -Group C) 

 
-lj:t[t pQ/fTds k|Zgx¿ /Long Answer Type Questions)                     3×8 = 24 

 
20.  k"0f{ k|lt:kwf{ cGtu{t pTkfbgsf] d"No tyf kl/df0f lgwf{/0f x'g] k|s[ofnfO{ lrlqt ug{'xf];\ / MR-

MC cjwf/0ff cg';f/  kmd{sf] cNksfnLg ;Gt'ngsf cj:yfx¿ b]vfpg'xf];\ .  
Illustrate the price and output determination process under perfect competition and show 

the situations of short-run equilibrium of the firm by MR-MC approach.                      4+4 
21. t'ngfTds nfesf] l;4fGt cGt/f{li6«o Jofkf/sf] cfjZostf;Fu ;DalGwt 5 . x/]s b]zx?n] cfkm\gf] 

b]zdf pTkfbg ubf{ al9 nfut kg]{ j:t' cfoft ub{5g\ . Pp6f pko'St pbfx/0fsf] ;fy AofVof 

ug'{xf];\ . 
The Comparative Advantage theory of international trade is relatedto the need of 

international trade.Every country imports the goods if their cost of production is high in 

the country. Explain with a suitable example. 
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22. g]kfn h:tf ljsf;f]Gd'v b]zsf nflu a}b]lzs /f]huf/L a9\bf] a]/f]huf/Lsf] ;d:of ;dfwfg ug]{ Pp6f 

pkfo xf] . tyflk o;n] eljiodf oL b]zx?n] laleGg ;d:ofx? ;fdgf ug'{kg]{ klg x'g ;S5 . o:tf 

;Defljt ;d:ofx?nfO{ dgg\ u/L rf/÷rf/ a'Fbfx?df cfkm\gf larf/x? AofVof ug{'xf];\ .  

Foreign employment is a way to solve the unemployment problem for developing countries like 

Nepal. However, from this, such countries will have to face various problems in future. 

Considering such possible problems, explain your ideas in four points for each.                   4+ 4 

cyjfor 
g]kfnsf nflu ;fGble{s /x]sf ;+o'St /fi6« ;+3sf bLuf] ljsf;sf s'g} rf/cf]6f nIox¿ k|fyldsLs/0f 

ug'{xf];\ . g]kfnsf] ;Gbe{df oL nIox?nfO{ k|fyldstfdf /fVg lsg h?/L 5 < k|i6 kfg{'xf];\ . 

Prioritize and list out any four major SDGs of UN that is directly relevant to Nepal. Why these 

aims should be prioratized in Nepalese context? Clarify.                  2+3+3 
-0- 


